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QUESTION 1

Which three statements are true about Whitelists? 

A. It is a list of all approved, enabled clusters. 

B. It is used to filter network traffic to services in the cluster. 

C. It specifies if clients for specific services on specific ports are denied access. 

D. It is list of clusters accessible to you. 

E. It is an index of approved entities. 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cloud-machine/latest/bigdatacm/CSBDM/GUID-4DC086BF-
DBB943A0-BE0D-1CCBED87BEB4.htm#CSBDM-GUID-4DC086BF-DBB9-43A0-BE0D-1CCBED87BEB4 

 

QUESTION 2

In which use case Event Hub Cloud Service (Apache Kafka) CANNOT be used? 

A. as a data pipeline solution for big data 

B. for Data Integration for streaming data 

C. as a relational data store 

D. for application development with micro services 

Correct Answer: A 

 

QUESTION 3

How can you collect and move Syslog data with HDFS without any data loss? 

A. Use the HDFS copy command as long as you have necessary HDFS and Cluster Access Privileges. 

B. Use FLUME with Memory channel and Sink. 

C. Use FLUME with In File channel 

D. Use PIG with error checking enabled 

Correct Answer: B 

 

QUESTION 4
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What is the result of the FLATMAP () function in Spark? 

A. It always returns a new RDD by passing the supplied function used to filter the results. 

B. It always returns a new RDD that contains elements in the source dataset and the argument. 

C. It always returns an RDD with 0, 1, or more elements. 

D. It always returns an RDD with identical size of the input RDD. 

Correct Answer: A 

Reference: https://backtobazics.com/big-data/spark/apache-spark-flatmap-example/ 

 

QUESTION 5

You are a Spark developer using Spark RDDs for data processing. You realize Resilient Distributed Data Sets (RDDs)
are evaluated lazily. 

Which function do you need to execute to materialize RDDs? 

A. Coalesce () 

B. ReduceByKey () 

C. Filter () 

D. CountByKey () 

E. Map () 

Correct Answer: D 
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